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Chapter 9 - Exercise 1 (page 80) | 4 a1 b 7 & I7 d 66 g 16 5 4
p pag: |
. | 5. a 8 b 40 c 9 |
1. a pentagon b kite | ch {3 B ise 2 98
¢ triangle d rhombus " & 260 : 2‘5 £ i | g RIS e Se)
e circle f parallelogram a ¢ | L Z 2 2
g square h rectangle \ d 14 & X7 (+36)f -2 S B 3 €3 -
2. a/b pentagon (L d 5 } L 2,8 i ; 2 8 3 13
3. aé b/c  hexagon ‘ o {!) 21 ("") 98 ("') 0 (!v) 80 L f W 9 = h i
4. pentagon, hexagon, heptagon, octagon, 3 e} 2 {05 G U (v 101
nonagon, decagon ' 8. a 71421283542p b x7 c 105p i B ; 3 - [
5. a 5squares b square and circle | 7 @ 51015202530 b x5 ¢ 70 ‘ 4 ? ? *
¢ 4 hexagons | ; i I L d &
d rectangle and 2 squares | Chapter 10 - Exercise 2 (page 91) |2 a 2 b; < g3 >
e pentagon and 2 squares L. a3 b 9 c b | 1 10 1 5
f octagon and 8 squares |2 a4 b 0 ¢ 12 | ® e 95 h o
g rectangle and 4 triangles | d 8 e 9 f 12 |
h hexagon - 6 green and 6 yellow triangles g7 h 0 i 13 i L j £ ko= T
i square and 4 triangles j 3 k 5 I 1 e 2 ¥ ?
6. a/b see pupils’ drawings and display 1 m 7 n9 o5 | LS B iy ¢ = d 2
| p Q q 32 r b6 15 15 15 15
Chapter 9 - Exercise 2 (page 82) s 7 t 9 u 7 ' 4. a 5boxesshaded b 7 boxes shaded
1. a/b scalene 2. a/b isosceles |8 19 # b - cx ‘ Gl 21 boxgszshnded
3. a/b equilateral ‘ 4 o T |5 a
4. a isosceles b equilateral | 9 Bt ' N EHEBH
. |4 a7 b e 7 PN
¢ isosceles d scalene | ! |
e equilateral f isosceles | d 12 e 17 f9 .
Sidlene K edtaled 5. a JarA=7, Jar B =10, B heavier by 3
g 6. a l4ecm b 9em ¢ 15em d 15cm @ E
i 7. a 53+%=72 b £19 |
Chapter 9 - Exercise 3 (page 83) 6. & 18-%:3, = atelssweets Chapter 11 - Exercise 3 (page 100)
1. a obtuse b right b 7x*=119, = euroweighs 17 grams | Lo e 1 s s
¢ acute d acute c *+8=09, = 72lettuces | L 2% ot mh i gt g
e obtuse f acute d 14+*=32 =  ham weighs 1-8 kg
2. a AKTL b AEF6 ¢ AMRQ e Bx *=752, = lemonsip costs 94p a L@ ple® Bl
d ADSI e AYVN f APNZ f 72:*=6, = cutinto12 lengths 2 6 2 5B
g *-9=51, = MrGalbraith is 60 2 10
Chapter 9 - Exercise 4 (page 84) [ 9. a 6x*=48 b length =8 cm 2 a o b ©
| o
L. ALMK s a right angled scalene triangle | i;) a ,35000 N 29502 B sirapped by 5500 F 4 6 810 12 14
2. ANWT is an acute angled isosceles triangle | ** Think'af hiliber ¢ . 6 L 9 RRTI .
3. a AMFW . right angled isosceles ... l =i esg8al SohenEha0 g =r + 2
b ARGS ..acute angled scalene ... => "+ 5-5=" (the number you began with) | 4 4 i‘ b % c -6:
¢ APDE ..acute angled equilateral ... . ! !
d AEWM ..obtuse angled scalene ... Chapter 10 - Exercise 3 (page 94) d 2 B o2
e ATKC ..right angled scalene ... 1. a7 b 4 c 15 16 20 30
f ARVQ ..acute angled isosceles ... d o e 10 f 16 5 3 b 9
g1t hi13 i M &8 s S oa
Chapter 9 - Exercise 5 (page 85) i 5 k 9 (I o
p pag J 4= 27 PR3
L m 3 n 8 o 42 5 F = B
p 64 q 77 r 16 6. various
2. a6 b 16 c 9
d3 eo0 f 100 7 o> b+ 2
g4 ho9 i 7 ; ! ¢ 7
| j % kb6 | 8 B oy R e A
3. a a+6:=13,a=7 b b+7:22, b=15 ‘ 8 10 50
¢ 2x¢=20, ¢=10 d 4xd=36, d=9 1 2 3
circumference 5 i e 3xe=120,e=40e f+25:45 f=20 8 @ 2 b 3 €5
3. 50mm 4. 25+ d=63, Donald is 38 ; ; z
4 o 7an b 35em 5. cx4=1000, Costis £250 | d T e £2
5. a seepupil'ssketch b 12em 6. 8% 1=56, thereare 7 octopuses |
6. 48 cmby 16 cm 7. 5-240=965, 1205 gmrf\s to b.egin with 9. a 5 B 2 c & d L
7. a 4cm b 2em 8. 9x™ =54, would take him 6 mins i 6 5 3 2
8. a 7em b 35cm ¢ 85cm 9. ¢+23:=5l, theres are 28 chimps 2. ¢ 2 3 h 2
9/10/11 see pupils designs 10. b=3=16, there were 48 balloons & 5 3 %5 3

11.  Ahmed is 10, his dad is 30

The Answers to Book 2a page 193




